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Equations of Circles - Homework

Graph the following circles. State the center and radius.

5 5 r'*“ 5 A G‘
. x+y =9 : 2. x4y =20 5
T ‘, f
Y= q_q‘;s o Y‘:Fz—o = L}-q—] // ; N
N , 2 AN
Center: ‘0,!). ) : N Center: iQJ—D—L ,.6 \_
Rodius:_ 2 I AT 9 I | Rocius: 44T % -sb\-a XD b
2 N2 /
Sl /
4 ~ : 7
E“ E"
3. 4x’+4y° =100 s 4. () +y =16 .
M Y ' & | 8
LS 2 “ .
X +y =a5 P A p
W N Center: l—zl 0) T
Center: ‘ O,!i ) 3 enter: L 3
/ a \ 14 / i 2 \\
Radius: 5 = Radius: _L}_ 1 .
& N EEEED i EREEEN T
r={16=5 \ ) r=Yw=y 1/
N 5 P4 N 17
- \ 4 ,// N ﬂ/
\k\_?’ el I
K B ) )
5. (x4’ +(y—6)" =64 6. (x=3) +(y=35)" =50
”. . A
I s 1 T T [
A ( i ¥ ) el M
Center: (_ﬂ;_,l) T Center: o » g
{ ; (et A Lo

N

TR 0] 1 | Radius: —]0'7 ) -
Radius: 8 \ p

E:8 ("3

—
™

I | r=\6o= .07

5]

r:(a:..l :.y - L

dbdedctecdeaf it d 4 > -

v

R E)
4 3
i

- [EN]
0¥ ¢ §

i




S

CCGPS Geometry

Unit 6 - Modeling Geometry

Lesson 6.1 - HW

7. Cﬂh‘“" ('213) L
i 2
ek as (x-ay +(y-3)' =
Rt S e : ?‘.-1_)(!—1) ¥ (3 "3)&’ "3)
- x ’zx—u'f“ "9 '?’3'33“3'

Write the equqhon of the circle in standard form. Then, converf to the general form,
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Find' the value of c that makes this a Perfect Square Trinomial, then write the expression

as the square of a binomial.
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Write the standard equation for the circle. State the center and radius. - &
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